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Date:

Time Started:

Time Stopped:

# Aftempted:

Score: Accuracy:

/20 To
out of only problems attempted

Level A

(Dividends to 25; Divisors to 5; 20 Quotients)

36

520

3]9

2110

515

24 408 3[15 4116 41 4
3+1= 12+3 = 25+ 5= 6+2= 10+ 5=
20+ 4 = 8+2= 2+2= S+ 1= 12+ 4=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

/20 To
out of those problems attempted

Accuracy:

Level B, Test 2

(Dividends to 50; Divisors to 5; 20 Quotients)

5015

428

3|24

2|8

432

5|25

18+2=

1 +1=

24 + 4 =

35+ 5=

40 + 4 =

18+ 3=

45+ 5=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those problems

Accuracy:

3 (¢]
attempted

Level B, Test 4

(Dividends to 50; Divisors to 5; 20 Quotients)

2 10

2014

3|30

5010

5|25

3|3 212 16 428 414
12+ 4= 2+2= 6+3= 45+ 5= 40+ 4=
S50+5= 18+2= S+5= 18 +3= 8+2=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those problems

Accuracy:

3 (¢]
attempted

Level C, Test 1

(Dividends to 81; Divisors to 9; 20 Quotients)

8|32

6|42

7121

206

9|81 5| 45 4124 315 2[16
6+ 6= 20+2= 8+4= 27 9 = 9+1=
2+2= 48 + 8 = 49 -7 = 27 + 3= /+7 =
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
120 reresen L
Level C, Test 3
(Dividends to 81; Divisors to 9; 20 Quotients)

918 7|28 8|64 4] 24 321

2|10 5015 6|48 3|3 9172
3+ 1= 8+2= ?+3= 20+ 4= 25+5=
/2+8= 30+ 6= 24 +3 = 36+4= 6+3=
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
120 reresen L
Level C, Test 5
(Dividends to 81; Divisors to 9; 20 Quotients)

2016 7135 8|24 119 2]2

5|25 9|81 4]28 3|27 6|48
4+ 4= 42+7 = 6+ 1= 40+ 8= 18+ 2=
45+ 9 = 8+4= 4+2= 15+3= 56 +7 =
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

/25 To
out of those problems attempted

Accuracy:

Level D, Test 1

(Dividends to 100; Divisors to 10; 25 Quotients)

10 |80 4016 2|20 6|18 8|48
/2+9 = 16 +8= 28+ 7 = /+1= 12+3=

4|40 7| 49 6|42 1060 5(20
32+ 8= 80+8= 16 +2= 27 +9 = 9+3=

8|56 412 1110 7] 14 5015
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

/25 To
out of those problems attempted

Accuracy:

Level D, Test 3

(Dividends to 100; Divisors to 10; 25 Quotients)

6|54 3|30 1090 5|50 440
8=+ 8= 35+ 5= 10+10= | 9+3= 36+9 =

10 |40 714 8|4 6| 42 4|36
18+2= 9+9= 20+ 4 = 10+2= 3+3=

7135 6|24 9|54 8|24 6160
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those problems

Accuracy:

3 (¢]
attempted

Level D, Test 5

(Dividends to 100; Divisors to 10; 25 Quotients)

4016 6| 48 7|28 8| 48 212
S+ 1= 8+2= 63+ 9 = 63+ 7= 8+4=
10 [ 100 5|50 sl16 6] 18 327
20+ 5= 7+ 1= 2+ = 6+2= 54+ 6=

7170 919 6130 318 412
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

Accuracy:

/30 To
out of those problems attempted

Level E, Test 2

(Dividends to 120; Divisors to 12; 30 Quotients)

9|45 8|32 545 330 | 1122 4136
21 3= 8+2= 9+1= 30+-5= 49 -7 = 12+6=
12[120 | 8|56 4120 9|54 | 1260 8|64
10+1= |9+3= |35+7= |36+6= |40=5= |45+9=
2016 | 2|18 | 4|32 5025 | 10l40 | 11[11
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

Accuracy:

/30 To
out of those problems attempted

Level E, Test 4

(Dividends to 120; Divisors to 12; 30 Quotients)

ol18 | 10|20 sl72 | 20w | 7042 | 11|33
2:2=  |20+5= 30:3= 21+7= |40+8= |36+9=
121108 | 2|12 | 4l16 | 10|60 | 11|55 | 8|48
9+9= |4+1= |60=6= |10+5= |63+7= |20+2=
10/70 | 12]24 6|24 | 4|28 | 515 | 9|63
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:

/30 To
out of those problems attempted

Level E, Test 6
(Dividends to 120; Divisors to 12; 30 Quotients)

721 4116 | 12|60 6|54 3]27 927
7+1= |5+5=  [90+9= |8]1+9= |80+8= |4=2=
1155 | 10|50 4136 2018 | 6]36 5|40

20+ 4= 18+3= 35+7 = 12+4= 12+ 6= 48 + 8 =

12| 36 214 | 5]20 9(36 | 7|42 | 8|56
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RECORD OF TeST RESULTS

Date of Test Test # Time Score (_/_) Accuracy (%)
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Accuracy (% correct of problems attempted)

Graph Your Accuracy

Dates or Test Numbers
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